KOLAR Document ID: 1472821

Notice: Fill out COMPLETELY and return to Conservation Division at the address below within 60 days from plugging date.

Kansas Corporation Commission Oil & Gas Conservation Division

WELL PLUGGING RECORD K.A.R. 82-3-117

Form CP-4
March 2009
Type or Print on this Form
Form must be Signed
All blanks must be Filled

OPERATOR: License #:			APIN	lo. 15 -	
Name:				Description:	
Address 1:				Sec 1	
				Feet from	
City:	State:	Zip: +		Feet from	
Contact Person:			Foota	ges Calculated from Near	est Outside Section Corner:
Phone: ()				NE NW	SE SW
Water Supply Well	Other:	OG D&A Cathodi	Lease	•	Well #:
ENHR Permit #:	Gas S	torage Permit #:	Date	Well Completed:	
Is ACO-1 filed? Yes	No If not, is we	ell log attached? Yes	No The p	lugging proposal was app	roved on: (Date)
Producing Formation(s): List	•	·			(KCC District Agent's Name)
Depth to	·	tom: T.D	Plugg	ing Commenced:	
Depth to		tom: T.D	Plugg	ing Completed:	
Depth to	o Top: Bott	tom: T.D			
Show depth and thickness of	all water, oil and gas forn	nations.			
Oil, Gas or Water	r Records		Casing Record	Surface, Conductor & Produ	uction)
Formation	Content	Casing	Size	Setting Depth	Pulled Out
		iged, indicating where the mud of same depth placed from (bot	•		ods used in introducing it into the hole. If
Plugging Contractor License	#:		Name:		
Address 1:			Address 2:		
City:			State:		Zip:+
Phone: ()					
Name of Party Responsible for	or Plugging Fees:				
State of	County,		, SS.		
	(Print Name)			Employee of Operator or	Operator on above-described well,

being first duly sworn on oath, says: That I have knowledge of the facts statements, and matters herein contained, and the log of the above-described well is as filed, and the same are true and correct, so help me God.



INVOICE

DATE September 18, 2019

INVOICE #

1147

470 Yucca Ln Pratt, K\$ 67124 Office Phone (620)672-9100 Fax (620)672-5020

BIII To: EDISON OPERATING COMPANY LLC

8100 E 22ND ST NORTH, BLDG 1900

WICHITA, KS 67226

Lease Name

MLP Black A

Well Number

1-3

County

Haskell

State

KS

QUANTITY	DESCRIPTION	UNIT PRICE	AMOUNT
***	9/4/2019 Work Ticket #27616		
13.0	Rig #18 Operator & 2 men	240.00	3,120.00
4.0	Per Diem	150.00	600.00
	9/5/2019 Work Ticket #052		
1.0	Service Man Charge	500.00	500.00
130.0	Car Mileage	1.50	195.00
	9/5/2019 Work Ticket #27617		
10.0	Rig #18 Operator & 2 men	240.00	2,400.00
2.0	Tongs	100.00	200.00
1.0	Thread Lube	50.00	50.00
4.0	Per Diem	150.00	600.00
		SUBTOTAL	7,665.00
		TAX RATE	7.00%
		SALES TAX	536.55
			\$ 8,201.55

ALLIANCE

WELL SERVICE, INC.

WORK TICKET

NEW WELL

Nº 27616

Taylor Printing, Inc. • 620-672-3656

NEW WELL 470 Yucca Lane • Pratt, KS 67124 OLD WELL X 24 Hour Phone: 620-672-9100 • Fax: 620-672-5020 DATE 9-4-19 COMPLETE INCOMPLETE X COMPANY Eddison A WELL #_1-3 RNG ADDRESS . COUNTY 1 ZIP CODE CITY / STATE NON REVENUE TOTAL HAS WKD NAME HRS REVENUE TRAVEL POSITION OPERATOR DERRICK HAND RUGGE! Waller 13 FLOOR HAND 6 6 13 13 JTS PULLED WELL EQUIPMENT RAN JTS RODS **RODS PONY RODS** POUSHED RODS PUMP / VALVES TUBING PUPS SN / BBL ANCHOR / PACKER OTHER DESCRIPTION OF WORK BEING PERFORMED S. J. R. W. dig us braden head, die pit, c. w. wireline Double Drum Rig w/2 Men 13 Hrs @ Per Hour Total Hrs @ Travel Time_ Per Hour Total Swab Cups No._____ Size ___ Total _ Τψρε __ Per Each Swab Cups No. Size Type Total Misc por diem x4 Total Misc Total Misc Total Misc Total Misc Total Misc Total TOTAL Company Representative Dote

SALES & SERVICE INVOICE

Remit To: Alliance Well Service Inc. • 470 Yucca Lane • Pratt, KS. 67124

TERMS: 30DAYS FROM DATE OF INVOICE

DESCRIPTION DESCR

nting, Inc. • 620-672-3656

OR CONTRACTOR:

(NAME IN FULL)

Charges are subject to correction in accordance with latest price schedules and the addition of applicable State and Local sales / Use tax if not listed above.

27617 Ν°

Taylor Printing, Inc. • 620-672-3656

WORK TICKET **WELL SERVICE, INC.** NEM MELL OLD WELL X 470 Yucca Lane · Pratt, KS 67124 24 Hour Phone: 620-672-9100 • Fax: 620-672-5020 RIG # 18 COMPLETE _ INCOMPLETE COMPANY Eddison A WELL # 1-3 RNG_ TWP ADDRESS . ZIP CODE CITY / STATE HRS REVENUE | TRAVEL | NON REVENUE TOTAL HAS WKD NAME POSITION OPERATOR DERRICK HAND uesell waller 10 10 FLOOR HAND COL 10 10 10 JTS WELL EQUIPMENT RAN PULLED JTS RODS RODS **PONY RODS** POUSHED RODS PUMP / VALVES TUBING PUPS SN / BBL ANCHOR / PACKER OTHER DESCRIPTION OF WORK BEING PERFORMED ts, pump 1st plug @ 1810; pull thag, 240 Double Drum Rig w/2 Men____ Hrs @ Total Per Hour Hrs @ ___ Travel Time Per Hour Total Swab Cups No. Size _____ Type _____ Per Each Total Swab Cups No.____ Size Τγρε ___ ____Per Each Total 200 Total 50 otal Misc Dec diem y 4 Total Misc. Total Misc Total Misc Total TOTAL Company Representative Date



Please Remit To: P.O. Box 549 Hays, KS 67601

Phone: (785) 628-6395 Fax: (785) 628-3651

FIELD TICKET No.

	2		
vA.	51	100	10
100	- 1		H,

INVOICE NO.		P.O. NO.					AFE NO.	
CUSTOMER	Comming	LEASE /	16		WELL NO. / A			
ADDRESS	d'	FIELD			STA	ATE KS.	COUNTY Hask	0/1
		LOCATION	3	305-	34m	2710 PS	71 1750 F	
CITY		CASING S			13 73		TBG. SIZE	
STATE	ZIP	TYPE OF	ов с	2/8P-	dunst	reiler -		
ORDERED BY		TITLE			,		SERVICE SUPV.	
PART NO.	DESCRIP	TION		REV. CODE	QTY.	UNIT PRICE	AMOUNT	
78 210-1000	Service Chang	<u>.</u>						_
75-820-0055	5% CIRPE	5250						
75 200-0055		1820						
70:279-02.00	Dump Bail 2	SA CEMENT	Ŀ					
	an CURPOS 5	2.50	-					_
70-214-0700	GRECE Bond Le	29				2		
	Orath Change >	5-3070						
70-212-0700	GROW Bond Lo		541)					
	Operation Charge	0-3070						
75-8/5-0100	Perf 3 skots	@ 650						
		L. P.						
		0.0	-					_
CALLED OUT	ON LOCATION	COMPLETE	D D	TOTAL	. SERVICE	& MATERIALS		-
Time	Time	3 15	Time			DISCOUNT		
Date	2/3/19_Date	7/2-1	Date			TAX		
*ACCIDENT REPORT MUST BE ATTACH	ED WHEN NOT SIGNED				TOT	AL CHARGES		
WITH MY INITIALS, I CONFIRM TH "HOURS" COLUMN, ACCURATELY	AT THE TIME SHOWN IN THE REFLECTS MY COMPENSABLE TIM	E.					***	
Employee Name (Print)	Hours							
Gollscholk								
Burns	3							

CUSTOMER AGREES to pay (the "Company") on a net 45 day basis from date of invoice to avoid loss of discount. Invoices older then 45 days are subject to loss of discount on ticket. If Customer disputes any item invoiced, Customer shall, within 20 days after receipt, notify the Company of the item(s) disputed, specifying the reason(s) therefor; payment of the disputed item(s) may be withheld until settlement of dispute, but payment of undisputed portion of invoice shall be made without delay. All payments shall be made at the address shown on the reverse side of this document. In the absence of a separate written contract, CUSTOMER REPRESENTATIVE REPRESENTS AND WARRANTS THAT HE/SHE IS AUTHORIZED TO ENTER INTO THIS AGREEMENT ON BEHALF OF CUSTOMER AND ACCEPTS ALL TERMS AND CONDITIONS AS PRINTED ON THE REVERSE SIDE OF THIS DOCUMENT (WHICH INCLUDES INDEMNITY LANGUAGE THAT ALLOCATES RISKS RELATED TO THE ABOVE DESCRIBED SERVICES). Pricing and extensions, if shown above, are subject to verification and correction at time of invoicing.

	61	(21-a-1	100		
_X	R. Silver	Sporthering	16		

CUSTOMER REPRESENTATIVE



PAGE	CUST NO	YARD #	INVOICE DATE
1 of 1	1007020	1718	09/06/2019
	INVOICE	NUMBER	
	930	43829	

Pratt

(620) 672-1201

B EDISON OPERATING COMPANY LLC ! 8100 E 22ND ST N

WICHITA

KS US

67226

O ATTN:

DAVID WITHROW

LEASE NAME

MLP BLACK "A" 1-3

LOCATION В

COUNTY

HASKELL

STATE

JOB DESCRIPTION - Cement-Casing Seat-Prod W

Ε JOB CONTACT

JOB #	EQUIPMENT #	PURCHASE	ORDER NO.		TE	RMS	DUE DATE		
41189285					Net -	30 days	10/06	/2019 =	
		P	QTY	U of M	UNIT	PRICE	INVOICE	TRUOMA	
For Service Dates	s: 09/05/2019 to	09/05/2019							
0041189286									
171819660L Ceme	ent-Casing Seat-Prod \ N	N 09/05/2019	N , 5 -	=					
60/40 Poz			170.00	sĸ		12.00		2,040.0	
Heavy Equipment M			60.00			4.00		240.0	
Blending & Mixing	Service Charge	ï	170.00			0.70		119.0	
Ton Mileage	11.20001	1	258.00			1.50		387.0	
Depth Charge, 100	r, with chart recorder		1.00 1.00			750.00 175.00		750.0	
Service Supervisor			1.00	1.		75.00		175.0 75.0	
Driver Charge			3.00	1		35.00		105.0	
Light Vehicle Mileag	je		30.00			2.50		75.0	
	CENEUT TO G080	Dear WELL							
end Es Fall	391 × 3					=			
8 30						1			

PLEASE REMIT TO:

SEND OTHER CORRESPONDENCE TO:

BASIC ENERGY SERVICES,LP
PO BOX 841903
BALLAS,TX 75284-1903
BASIC ENERGY SERVICES,LP
801 CHERRY ST, STE 2100
FORT WORTH, TX 76102

SUB TOTAL

TAX

3,966.00

0.00

INVOICE TOTAL

3,966.00



	3AS	ic.	1700 S. Country Estates Raod Liberal, KS 67901	SERVICE ORDER -	1718 19660 L
E .	NERGY SE	RVICES	PH (620)-624-2277FAX (620) 624-2280 TTL MHB.31	Date:	9/5/2019
Well Name;				Location:	
MLP Black "A" County - State:	1-3			RRC#:	
Haskell, Ks				19919	_3
Type Of Service:				Customer's Order #:	
Z41 - Plug to Al		Edison O	1067030		
			E 22nd St D.		
to a sold and as the		1	0:45 165 6072210	e NET 30 (SEE 10.2) after date of invoice	e. Upon Customer's
default in payment of Cu the pollection costs and	actioners account by attorney fees. These	such date, Cur larms and cor	by Basic Energy Services in accord with the sales and terms stated in Basic Energy Services current price lists. Invoices are payable former agrees to pay interest thereon after default at 16% per annum. In the event it becomes necessary to employ an attorney to en ditions shall be governed by the laws of the state where services are performed or equipment or materials are furnished.	force collection of said account, Custom	er agrees to pay all
Basic Energy Services.	warards only little to	a the products,	supplies and materials and that the same are free from defects in workmanship. THERE ARE NO WARRANTIES, EXPRESS OR IN	PLIED, MERCHANTABILITY, FITNESS	FOR A
contract, tort, product Fa	bility, breach of warr	anty or otherwi	ND BEYOND THOSE STATED IN THE IMMEDIATELY PRECEDING SENTENCE, Basic Energy Services, allowy error columns a sele parising out of the state or use of any products, exporter, or materials upon their refurn be Basic Energy Services, is expressly limits Customer of credit for the cost of such items. In no everal shall Basic Energy Services be Baltis for special, indirect, puritive or com-	ed to the replacement of such products, or request at damages.	supplies or materials
Of , at Boat Energy Den	sices opeon, as the e	alona re es t			
CODE	QTY	UOM	DESCRIPTION	PRICE	TOTAL.
BC132	170	SK	60/40 Poz	24.00	4080,00
ME102	60	MI	Heavy Equipment Mileage	8.00	480.00
CE240	170	SK	Blending & Mixing Service Charge	1.40	238,00
TM	258	MI	Ton Mileage	3.00	774.00
CC2	1	HR	Depth Charge, 1001'-2000'	1500.00	1500.00
CE505	1	EA	Cement Densiometer, with chart recorder	350.00	350.00
BE143	1	Ea	Supervisor	75.00	75.00
BE144	3	Ea	Driver	35.00	105.00
ME101	30	MI	Light Vehicle Mileage	5.00	150.00
	-7				
				Book Total:	\$7,752.00
				Taxes:	
				Disc. Price:	\$3,966.00
				YES	NO
	men.	1447 4004	THIS JOB WAS SATISFACTORILY COMPLETED		
UMP TRUCK NUM	BER: 38	117, 19919	OPERATION OF EQUIPMENT WAS SATISFACTORY		
r	· 0.	21			
KIVER: Jesse K	axton, Use	car Ch	CAN MERC Schupman PERFORMANCE OF PERSONEL WAS SATISFACTORY		
59-	-0 1	30	a V north with	· -	
aane	es e	100	CUSTOMER OR I	HIS AGENT	رب
BAS	SIC ENERGY S	ERVICES	for COSTONIER ON I		TO
					-
Customer	Comments or	Concerns			



Liberal Yard #1717 - Phone 620-624-2277 - 1700 S. Country Estates Road, Liberal KS 67901

PRESSURE PUMPING Job Log

										10	
Customer	r Ec	dison Operatir	ng		Cement Pump No.	38117, 19	9919 3Hrs.	Operator TRK No.1	968 ⁻ 30463, 14284	16	
Address	51				Ticket #	1718 1	19660 L	Bulk TRK No.1	Marc, Oscar		
City, State, Zip	22				Job Type		Z41 -	Plug to Aband	ion		
Service District	17	718 - Liberal, Ks. Well Type: OIL									
ell Name and No.	. ML	P Black "A" 1	-3		Well Location		County	Haskell	State:	K	
Туре	of Cmt	Sacks			Additives			Truck Loa	ided On		
60/4	0 Poz	170			4% Total gel		30463, 14284 Marc, Oscar Front			Back	
									Front Bac		
									Front	Back	
Lead	/Tail:	Weight #1 Gal.	Cu/f	-t/sk	Water Re	quirements	CU. FT.	Man	lours / Persor	inel	
Le	ad:	13.5	1	.5	7	.5	255	TT Man Hours:	31		
Ta	ail:							# of Men on Job:	4		
Time		Volume	Pu	mps	Pres	sure(PSI)	D	escription of Oper	ation and Material	s	
(am/pm)	(BPM)	(BBLS)	Т	С	Tubing	Casing					
9:30							ON LOCATION & SAFETY MEETING				
9:45								RIG	UP		
10:21 AM							CIRCULATE / LOADED W/ 1BBL				
2	3	3			300			CIRCULATE	W/ 3BBL		
10:25 AM	2.5	6.6 slurry			220		Р	UMP 25SX @	13.5# / 1810'		
10:28	3	5.8			40			DISPLACE	N/ 5.8BBL		
10:30								SHUTDOWN	/ PULL TB		
11:42 AM	2.5	3.5			50		CIRCULATE W/3.5BBL				
11:49	2.5	38.7 slurry					PUMP 145SX @ 13.5# / 650' TO SURFACE			RFACE	
12:25							CEME	NT TO SURFA	CE / SHUTDO	OWN	
								JOB COM	PLETE		
								ే.			
Size Hole	8 5/8"	Depth					TYPE		Swage		
Size & Wt. Csg.	5 1/2" 15.5#	Depth			New / Used		Packer		Depth		
tbg.	2 3/8" 4.7#	Depth			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		Retainer		Depth		
Plugs	1810'	650'		-			Perfs		CIBP		
						Basic Represe					
uatamar Ci-	matura: \ f	Theren	us	1	5he	Basic Represe	.e.	Harris	Daniel Beck	R	
ustomer olg	mature. V 🗸	Mun	-	- 12		Pagio Oigiliatui		Mondo			

